g%
I

FEHMN

1. ¥4
EHL 5 5 T M e S R IS I 2R
BT AT SRR RTINS 1 T H 2 5 0 & (KA | [EE FRTE M)

2. ¥HENRE
1) FHEI4 N ZSENIIIESPER: 75 T R
276 HH H &7 64 6726H

2) JEATHIR
S T4 3H28H

3) BB
AYESIE, TEIHRIC 5513 5 H AR BRE I U T T B BERGEIE O T
Rerh. ARIEC P C O T I U EAR B S E HIO L T 5,

4) ¥EBAR
1) BB ERE () 1K
2) EE TR Q) 1K
3) WHFERERREES 1K

EtrEE T R



¥F4 | FREESCEHUEOE BT S B3 ER i EHES
H H ERERE
B E I % i 3 B {7 # & #A OB N R
JE H R =X 5, 559, 273
TE R =X 2,072,073
EE TaREE (A) X 2,072,073 | EH TG (A) (EiE250%5)
0.76 )1 (km) =
BTG (A) (R IRER)
0.51 )1 (km) 2
AR T E I B AR BHER oy 3, 487, 200
AT A AR A MR oy 3,487,200 | #HIFHEIXERRE RS
1 =
AEFEME N _E R G E E R = 89, 400
A PEMER ERRGH R R EERR = 89, 400
AEPEVER B R EERR = 89, 400 PEMEIN R R R R
1 eSS
N BH RS Al D VERK = 127, 200
INBH RS b O VERK: = 127, 200
25 BR A R AR D VERK = 127,200 | ZABHH AR S O VERR
1 =
BisST] = 649, 950
Hm GREFED) =X 649, 950
FTawe = 591,500 | T4+
1 =
DA = 58,450 | HRATH T I L Db
1 [A]

EtrEE T R



Tl
P

=
=

¥F4 | FREESCEHUEOE BT S B3 ER i EHES
H H BLsii]
B E I % i 3 B {7 # & #A OB N R
KR T = v 7 v — b OERL
1 T fE
B =X 1, 295, 226
[EREE 3 =X 1, 295, 226
R EE =X 40, 226 | ficgiEE (i L)
1 =
%%E}Z%lﬁlﬁzﬁk% it: 355, 000 %%Eﬁ%%f’?ﬁk%
1 =
Mt X E - & KHIRIE oy 900, 000 | #tEXE - 2EXHIRE
1 =
EEFM (2 OMFEMmER<) = 7,721, 049
Z OJFEAT = 3, 438, 429
— N E B = 6, 000, 522
SRS oy 17, 160, 000

EtrEE T R



